Codice fascicolo:997-400-12150

Data: Lunedi 11 febbraio 2019

Codice foglio: 997-121-99420 Rev: AB

CODICE

PORTO cons

I RAPIDI
CKET KIT FOR
K COUPLING

KIT SUPPORTO INNESTO RAPIDO ALETTE
L-SHAPED BRACKET KIT FOR SINGLE

QUICK COUPLING “WING TYPE”
121-994-00824

KIT SUPPORTO INNESTO RAPIDO G1+TAPPO TE
L-SHAPED BRACKET KIT FOR SINGLE
QUICK COUPLING + TE PLUG

121-994-01501

Ta

o
©
L; |
\ I 17
| ——
30 :
65
50 65
Pos. | Codice/Code Descrizione Description Q.TY
1 538-004-01578
To 538-004.01587 STAFFA BRACKET 1
2 502-002-00067 |VITE TE Mé6x22 SCREW 1
3 505-010-00114 |DADO AUTOBLOCCANTE x M6 LOCKNUT 1
4 501-007-00046 |RONDELLA PIANA x M6 WASHER 1
5 538-004-01596 |STAFFA BRACKET 1
6 501-007-00082 |RONDELLA PIANA x M12 WASHER 2
7 505-010-00061 |DADO AUTOBLOCCANTE x M12 LOCKNUT 1
8 502-005-00064 |VITE TE M12 SCREW 1

ATTENZIONE: tutte le operazioni relative al montaggio, devono essere eseguite IN SICUREZZA secondo le norme vigenti.
ATTENTION: all the operations related to the assembling of these components have to be carried out in respect of the
current SAFETY regulations in place

A\

pag.11
O.M.F.B. S.p.A. Hydraulic Components COMPANY WITH
We reserve the right to make any changes without nofice.
Edition 2016.03 No reproduction, however partial, is permitted. QUALITY SYSTEM
A Via Cave, 7/9 25050 Provaglio d'lseo (Brescia) ltaly Tel.: +39.030.9830611 CERTIFIED BY DNV GL

Hmmu'.,c COMPONENTS Fax: +39.030.9839207-208 Internet:www.omfb.it e-mail:contatti@omfb.it =1SO 9001:2015 =



KIT SUPPORTO INNESTO RAPIDO SINGOLO G1 L=60
L-SHAPED BRACKET KIT FOR SINGLE QUICK COUPLING G1 L=60

121-994-00833 - G1

121-994-01467 - G3/4

KIT SUPPORTO INNESTO RAPIDO SINGOLO G3/4 L=60
L-SHAPED BRACKET KIT FOR SINGLE QUICK COUPLING G3/4 L=60

‘ o
(o]
1)
J
\ T/ —
30
50 65
Pos. | Codice/Code Descrizione Description Q.TY
la 538-004-01587
b 538.004-03245 STAFFA BRACKET 1
6 501-007-00082 |RONDELLA PIANA x M12 WASHER 2
7 505-010-00061 |DADO AUTOBLOCCANTE x M12 LOCKNUT 1
8 502-005-00064 |VITE TE M12 SCREW 1
9 116-012-00082 |NIPPLO PASSAPARETE G3/4 CON DADO BULKHEAD NIPPLE G3/4 WITH NUT 1
10 116-012-00108 |NIPPLO PASSAPARETE G1 CON DADO BULKHEAD NIPPLE G1 WITH NUT 1
pag.12
COMPANY WITH O.M.F.B. S.p.A. Hydraulic Components
QUALITY SYSTEM .\‘Ne reserve the right to malfe any changes wi.fholr:f nofic.e,
Edition 2016.03 N duction, h tial, i tred.

CERTIFIED BY DNV GL Vi Cave, 7/9 25050 Provaglio d‘sco (Bresco) fly Tel- +39.0309830611 4

=1S0 9001:2015 =

Fax: +39.030.9839207-208 Internet:www.omfb.it e-mail:contatti@omfb.it

HyprauLic ComPONENTS

Codice fascicolo:997-400-12150

Data: Lunedi 11 febbraio 2019

Codice foglio: 997-121-99420 Rev: AB



